575 Series
Color: Iris Assy. & Shutter Flag

W ONOOWUMAEWDNDH

—
- O

b b b e
NO LR WwN

99110035
85000041
50706060
90707043
90708073
80071203
80050021
50709030
80071206
899270070
90709073
99290017
90707030
99290013
99290017
90707045
90709052

Shutter Flag

Shutter Hub

Washer, Aluminum Shutter Flag
Socket Cap 6 - 32 x 3/8
Screw, PhilPan4 - 40 x 1/8
Light Block

Board, Wide Sensor

Screw, PhilPan4 - 20x 1/4
Iris Mount

Motor 2V

Screw, PhilPan4 -40x 1/4
Molded Gear, Iris
SocketCap6-32x1/2

Iris

Drive Gear, Iris
SocketCap6-32x1/4
Screw, PhilPan6-32x 1/4



